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bl'QT c!9tpSlQ!Wf~p;uu@il!D~· 
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81. To hear a distant echo, the surface reflecting the sound should atleast be at a distance 

(Take velocity of sound in air = 340 m/s) 

(A) 34 m 

\)llff 17 m 

(C) 51 m 

(D) 10 m 

Gr~G1JrrnSlQ'ltu8i Ca;L.a;, ~~G1Jrrrol8i<§i.b UIJLIY @®Bia; CQJ~tq.tu @)Q'l!DfepjuL.a: Gp;rrQ'lQl6l..j (a;rr!D!DJru, 

~roluSlm~ ~Q'la:Crua; LO~uy 340 u5L.Lr'r/~mrriq. Grma;) 

(A) 34 u5 

(B) 17 u5 

(C) 51 u5 

(D) 10 u5 

82. When steam is passed over red hot iron, the products formed are 

(A) FeO and H2 

(B) Fe20a and H2 

V(' Fea04 and H2 

(D) Fe and H20 

.ffi1Jrr~Q'ltu Ge:t§@;CL!i>!DLiuL.L@@i.bLSlm u5~ Ga:w~~i.b Curr§! 2-@QJrT<§i.b ~Q'lmGurr@L.a;6lr 

(A) FeO LOJD!PJLD H2 

(B) Fe20a LDJD!PJLD H2 

(C) Fea04 LOJD!PJLD H2 

(D) Fe LD!i>!PJl.b H20 
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83. Which one is not nitrogen fertilizer? 

(A) Ammonium sulphate 

(B) CAN 

(C) Urea 

\Pf' Gypsum 

(B) CAN ( 61 .GJ.GHi~T) 

(C) ~rrhurr 

(D) ~uuib 

84. Plants which grow in saline swamps develop numerous upright aerial roots from normal 

roots that are called 

~ Respiratory roots 

(B) Prop roots 

(C) Parasitic roots 

(D) Epiphytic roots 

(A) a;QJ rr 618>® ID C61.l ir a;Gi"T 

(B) ~~ C61.lira>Gi"T 

(C) ~L.@~~ C61.lira>Gi"T 

(D) Q~rrJi>w CQJrra;Gi"T 
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85. Match List I with List II and select correct answer using the codes below the lists. 

List I List II 

(a) Glycolysis 1. 02 is not utilized 

(b) Kreb's cycle 2. ATP are produced 

(c) Electron transport chain 3. Oxidation of pyruvic acid 

(d) Fermentation 4. Occurs in cytoplasm 

(a) (b) (c) (d) 

(A) 3 · 4 2 1 

~ 4 3 2 1 

(C) 1 3 4 2 

(D) 2 4 1 3 

a:rllUJrrGaT 6'61Q'lLa;Q'lar~ Gp.;rll~ Ga:u'..Ja;. 

QJrllQ'la: I QJrl)Q)a: II 

(a) .$lQ'lm a;rrrolfil~ 1. ~B;fil~m uUJmu@~p.;uu@QJ~6\>Q)Q) 

(b) .ilG11u srw!i>fil 2. ATP a;m :L@QJrr.$16UT!!)GaT 

(c) GTQ)8;l....11rrm s;L~~5 a:ri.J.$lrol 3. 6r>U@6'618; ~uSlQ.> ~S;§l~GGaT!i>!J)tb 

(d) G)J>rr~~p.;ro 4. 6r>a:l....GLrrt5lmrra:~~ro )J>6r>LGu~.$l!D~ 

. I 
(a) (b) (c) (d) 

(A) 3 4 2 1 

(B) 4 3 2 1 

(C) 1 3 4 2 

(D) 2 4 1 3 
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86. Parotid gland is affected by 

(A) A(H1N i) virus (B) Hepatitis B-virus 

(C) Polio virus ~ Mumps virus 

(B) Q~urrl...1.q.L. . .1.q.G'iu B -6WHil.llJ"Glu 

87. The founder of Nalanda University 

(A) Chandra Gupta I ~Kumara Gupta 

(C) Skanda Gupta (D) Samudra Gupta 

88. Which party in Tamil Nadu first introduced "Free Noon-Meal" scheme? 

(A) Congress 

(C) Swarajya party 

~Justice party 

(D) Dravidian party 

GT~~ s;L...5lu51m ~L...5lu51@ QP~m QP~Q)rrs; ~t.6l~J!>rrl...i.q.@ "@Q)6l..la: LD~UJ ~~6l..I~ ~l...LLi:>" 

~i6J0Ps;uu@~~UULL~? 
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II 

89. Krishnadevaraya wrote Amuktamalyada in the language of 

(A) Tamil (B) Kannada 

(C) Urdu ~Telugu 

(A) ~t.61~ (B) $6Gl'mLt.b 

(C) 2-Q?t9J 

90. Who has received the award of 'Ezhisai Mannar' through Dr. S. Dharmambal? 

(A) T.K Bagavathy 

\)l'ff' M.K Thiyagaraja Bagavathar 

91. Which is known as "Whispering gallery"1 

"" Golgumbaz 

(C) Golconda 

VGT19 26 

(B) M.K Radha 

(D) N.S. Krishnan 

(B) J umma Mosque 

(D) Madarasa 
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92. 
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Match the following and choose the correct answer from the codes given below: 

(a) Home Rule Movement 

(b) Non-Co-operation Movement 

(c) Salt Satyagraha 

(d) Quit India Movement 

(a) (b) (c) (d) 

~ 3 1 4 2 

(B) 4 2 3 1 

(C) 3 4 1 2 

(D) 4 1 2 3 

(a) ~~~rrl...61 @UJ85B>t.0 

(b) ~~~Q)WU.JrrmLD@U.J85B>t.0 

(c) LuLJ6 s:~~U.Jrr.$11Ja;t.i:i 

(d) G6l..lmQ)"1TU.J~~ G6l..l~~U.Jl)JJ @U.J85s;t.O 

(a) (b) (c) (d) 

(A) 3 1 4 2 

(B) 4 2 3 1 

(C) 3 4 1 2 

(D) 4 1 2 3 

1. 

2. 

3. 

4. 

1. 

2. 

3. 

4. 

27 

1920 

1942 

1916 

1930 

1920 

1942 

1916 

1930 
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93. The Treaty of Purandhar was signed in the year 

(A) 1656 AD \Pf"' 1665 AD 

(C) 1660 AD 

(A) $li.sl 1656 

(C) $li.sl 1660 

(D) 1670 AD 

(B) $li.sl 1665 

(D) $li.sl 1670 

94. Consider the statement and choose the correct answer from the codes given below : 

Assertion (A) The partition of Bengal came into effect on 16th October 1905. 

Reason (R) It resulted in Swadeshi Movement in Bengal. 

(A) (A) is true but (R) is false. 

(B) Both (A) and (R) true (R) is not the correct explanation of (A). 

~ Both (A) and (R) true. (R) is the correct explanation of (A). 

(D) (A) is false but (R) is true. 

£ws;rrwitb Qm8;$ll1Jffi.Js;mro ~~uuQ'lLl1Jrrs;8; Qs;rrQRir@ a:rflllJrrm 661Q)LQ)l1J Qs;rr@8;s;uul....@mro 

®!DluS@s;ffilru Wi<!Wii§J a~rrQj Qa:ti.Js; 

B;rTfJ~TLD (R) 

Q.Jffi.ls;ui.slrfl6616G>m ~8;aLrruir 16, 1905 -ru }DQ>LQP6G>!D8;® 6l.lft~§J · 

@!bl6l.Jffi.ls;rrro~~Gi> a;a~~ @lUd;s;t.D 6l.JGTTfJ8; s;rrfJ~norruSl!i>!J)l · 

(A) f (A) a:rfl ~mrrru (R) :2>6l.l!J)l. 

(B) (A) LD!i>!J)ltb (R) @rJQRir@tb a:rfl ~mrrru (R) (A) 8;® a:rflllJrrm 61Slro.$s;LOruQ). 

(C) (A) LDW!J)ltD (R) @fJQRir@tb a:rfl. (R) (A) .$® a:tflllJrTW 661GTT.$$LOIT@jtD. 

(D) (A) ~61.l!J)l ~mrrru (R) 6rrl. 
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95. Most of the Mangrove (Sundari) trees are found in the deltas of 

(A) Narmadha (B) Mahanadhi 

~ Hoogly (D) Cauvery 

(A) !f>rTLD~fD 

( C) ~-oe;Glfl 

96. A major user of wind energy in the world is 

(A) Asia ~Europe 

(C) South America (D) North America 

(A) ~61UJrr (B) 2]3Gl)rruurr 

(C) Gts~ ~Gt0ifl.$s;rr (D) 61.JL ~Gt0ITl.$s;rr · 

97. Rank the First Four largest paddy producing countries in Asia 

(A) India, China, Indonesia, Bangladesh 

(B) Indonesia, Bangladesh, India, China 

(C) Bangladesh, India, Indonesia, China 

~China, India, Indonesia, Bangladesh 

~61UJrr~ru G!f>ru ~!Du~~t6lru <!:Ptsru !f>rT~® @Lffila;~m Quwt.0 !f>rr@s;~m 61.Jifl~a:uu@~~s; 

(A) @.ffi~UJrr, Bmrr. @.ffiGtsrrG~~UJrr, 61.Jrf.Js;rrmGtsa=Li::i 

(B) @feGp;rrG~~lLirr, 61.Jrf.Js;rrmGfDa=Li::i, @.ffi~lLirr, Bmrr 

(C) 61.Jrf.Js;rrmGp;a:Li::i, @.ffi~lUIT, @.ffiGfDrrGm~lLirr, Bmrr 

(D) Brorr, @.ffi~lLirr, @.ffiGfDrrG~~lUIT, 61.Jffils;rrmGp;a:Li::i 
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98. Who is the Chairman of Indian Planning Commission? 

(A) President of India 

(C) Finance Minister of India 

99. Primary Sector consists of 

(A) Trade 

(C) Tele Communication 

(A) QJ~s;Lb 

100. The first demographer was 

~ T.R. Malthus 

(C) J.S. Mill 

(A) T.R. LOrrru~Q\> 

(C) J.S. uSlru 

VGT19 

~Prime Minister of India 

(D) Vice President of India 

(B) Construction 

~Agriculture 

(B) Adam Smith 

(D) Karl Marx 

(D) s;rrr'rru LDrrr'rd;Q\> 
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101. Who is the political head of the Corporation? 

(A) Chairman 

(C) Councilor 

102. The Election Commission of India is a I an 

~ Independent body 

(C) Private body 

(C) fii6ilUJrrir ~~L.Oul...I 

(B) Commissioner 

~Mayor 

(B) ~~~UJir 

(B) Statutory body 

(D) Public corporation 

103. The term of Jammu and Kashmir Legislative Assembly is 

(A) 4 years (B) 5 years 

\Pf' 6years (D) 7 years 
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104. The Government of India introduced the Right to Education on 

(A) 15th August 1947 

(B) 26th January 1950 

~ l8tApril 2010 

(D) 10th December 1789 

(A) 15~a;Gi\ll.._1947 

(B) 26 ~QT6l.Jifl 1950 

(C) 1 GJ"L.Hfru 2010 

(D) 10 Lq-6LDUrT 1789 

105. Consider the following statements : 

Assertion (A) : Tenth Five Year Plan period was 2002 - 2007 

Reason (R) Priority was given to reduction of poverty and population growth 

(A) (A) true but (R) is false 

(B) (A) false but (R) is true 

~ (A) and (R) both are true (R) is correct explanation of (A) 

(D) (A) and (R) both are false (R) is not correct explanation of (A) 

~~LJ (A) 

a;rrf!Qm"LD (R) 

(A) (A) 5ifl ~Qfrrru (R) 6Tmu~ ~ruw 

(B) (A) ~6UWJ ~Qfrrru (R) 6Tmu~ 5ifl 

(C) (A) LD!f>WJtb (R) @floo@tb 5rfl (R) 6Tmu~ (A) GlSl!f>® <'frfllUrrQT GlSlGTTB>e;tb 

(D) (A) LD!f>WJtb (R) @floo@tb ~6l.Jg)l LDJDWJLD (R) 6Tmu~ (A) GlSlJiJ® 6rrl1UrrQT 6lSlm8>a;tb ~ruQ) 
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106. Consider the following statement, choose the correct answer : 

Assertion (A) "Liberty means the absence of restraints" - Prof. Seely. 

Reason (R) Liberty is the eager maintenance of that atmosphere in which men 

have the opportunity to be their best selves. 

~ Both (A) and (R) are True 

(B) (A) is True (R) is False 

(C) (A), is False (R) is True 

(D) (A) and (R) both False 

e;L.@uurr11t-rururrQ'>LDGw Bf~Jb~IJ't.b 6r66fg)I Gul)'rr6lrtlUJrr kSl Bfl..!))!Sil!J)rrrr. 

B;rTl)'Qm°t.b (R) 8Jfbfe~IJ't.b 6T66ru~ :LrtlQ'>LDe;ml66r QJ~ QJ,!i>~~· p;6i>ru ~@.$.S(!PGTGTT 

<'f(!:P)'!>rTUJPJ~ru e;L.@urr11t-66r!& G6uJQ.JfblD® ~~Q.Jrra; .@®LiUC:fb Bff}),ffi~IJ't.b. 

(B) (A) :LaiGTQ'>LD (R) fbQJ!!)rTQT~ 

(C) (A) ~QJ!J)rr6Gr~ (R) fLaiGTQ'lLDUJrr6Gr~ 

107. Lok Adalat was introduced in 

(A) 1950 

(C) 1984 

(A) 1950 

(C) 1984 

p 33 

~1987 

(D) 2000 

(B) 1987 

(D) 2000 

VGT19 
[Turn over 

Ill 



II 

108. The Indian Constitution consists of fundamental rights under Part 

(A) Part IV 

(C) Part II 

(A) U@)~ IV 

(C) U@)~ II 

~Part III 

(D) Part I 

(B) U@)~ III 

(D) U@)~ I 

109. If TNPC = 5791 and CUP= 169. Then CPU=? 

(A) 159 ~196 

(C) 791 (D) 971 

TNPC = 5791 LD!i:>win CUP= 169 GT6Ullru CPU= ? 

(A) 159 (B) 196 

(C) 791 (D) 971 

110. The H.C.F. of x 3 + 1 and x 4 - 1 is 

(A) x 3 -1 (B) x3 +1 

~x+l (D) x - l 

(A) x 3 -1 (B) x 3 +1 

(C) x + 1 (D) x - l 

VGT19 34 
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111. If A and B together complete a work in 20 days. If A alone completes the work in 24 days, 
then B alone completes the work in 

(A) 14 days (B) 44 days 

\,)lilf' 120 days (D) 48 days 

A ll..Jt.D B ll..Jt.D GB=rr,lii~ ~® G61.JQ)Q)Q)UJ 20 JDrrL.a;~ai GB=lLi~ QP1.q-uurr. A LOL.@t.0 ~!bfh G61.JQ)Q)Q)UJ 

24 )DfTL<!E~QJ QPLq-~fhrTQJ B LDL@t.0 ~Ibfh G61.JQ)Q)Q)UJ Q;Ptq..8;a;~ Gf15Q)6UUU@QJ~ 

(A) 14 .[!jrrL.a;Gi'r 

(C) 120 .[!jrrL.a;Gi'r 

(B) 44 .[!jrrL.a;Gi'r 

(D) 48 .[!irrL.a;Gi'r 

112. Two numbers are 10% and 15% less than a third number. Find the ratio of the two numbers 

(A) 9: 16 

(C) 13: 16 

(B) 9: 14 

~18:17 

@1J"6Wr@ 6T6Wra;Gi'r @roJDrrt.D 6T6Wr~61Sl®.[ii~ (!PQ>JDGUJ 10% LD!i>!J)Jt.O 15% @5Q>JD6Urrs; ~Gi'rro~ ~~Qi ~Ibfh 

@® 6T6Wra;"1'flro 6lS18ilf15t.O 6Trom? 

(A) 9: 16 

(C) 13 : 16 

(B) 9: 14 

(D) 18: 17 

113. Raman buys a washing machine for Rs. 

selling price of the washing machine? 

13,500 and sells it at a loss of 12%. What is the 

p 

~1,880 
(C) 13,500 

(B) 11,800 

(D) 11,870 

@IJ"rrLDro ~~ ~Q>ru.$@5t.D @w,[ii~IJ"~Q)fh ®· 13,500 8;@5 rurrffil®SilroJDrrrr. @~Q)m 12% )DLL~~!D® 

GlSlJ!>JDrrrr 6T~Qi ~~ ~GID6U$@5t.O @w.(i;~IJ"~~ro GlSl!iJuQ>m GlS)Q'lru 6Trom? 

(A) 11,880 

(C) 13,500 

35 

(B) 11,800 

(D) 11,870 
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114. The total surface area of a cube is 384 cm2, then its volume is 

(A) 521 cm3 ~ 512 cm3 

(C) 412 cm3 (D) 421 cm3 

(A) 521 Qa:.i.03 

(C) 412 Qa:.i.03 

(B) 512 Qa:.i.03 

(D) 421 Qa:.i.03 

115. The LCM and HCF of two numbers are 45 and 3 respectively, their sum is 24, what is their 

difference? 

(A) 2 

~6 

(B) 4 

(D) 8 

@® G;T~6jffilm i.0.61.tn tn!iJWJLh i.O.Gurr.6l.I QPQ)!DaUJ 45. 3 LDJDQ)JLh <:!9!6l.IW!Dlm &l.@p;ru 24 G;Tmlru <:!9!QJ~® 

G;f~6jffilm ~fh~UJrra:fi;Q)~ 6jrr~<$. 

(A) 2 

(C) 6 

(B) 4 

(D) 8 

116. Find the sum of the first 40 terms of the series 12 
- 22 + 32 

- 4 2 + .... 

(A) 820 

(C) 870 

(A) 820 

(C) 870 

VGT19 

~820 
(D) -870 

(B) -820 

(D) - 870 
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117. If a particular amount distributed to each of 14 students is Rs. 80 more than the amount 

distributed to each of 18 students, find the amount 

~ Rs.5040 

(B) Rs. 3150 

(C) Rs. 2520 

(D) Rs. 4200 

~® ®!611.'.H.Sh:.L Q:25rr6MiQ'lUJ 18 LDrr~Gl..Jrre;~.9;® t5lifl~~ Qe;rr@uuQ'l~ C:urrru ~C:~ Q~rr6G>e;6~>1u 

14 LDrr~Gl..Jrre;~.S® t.5lifl~~ Qs;rr@~~rrro ~® LDrr~6l..JWJ.S® ®· 80 ~~e;LDrre; £16i>L.S£1JD~ 6TQflro ~lb~ 

Q :25 rr 6i>BiEill UJ a; rr 6iiaT 6; 

(A) ®· 5040 

(B) ®· 3150 

(C) ®· 2520 

(D) ®· 4200 

l18. Find the sum of the following series 22 + 32 + .... + 202 

p 

(A) 2867 

(B) 2868 

~2869 

(D) 2870 

(A) 2867 

(B) 2868 

(C) 2869 

(D) 2870 
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119. Wbich country is set to become the firstever cashless country in the world? 

~Sweden 

(B) Netherlands 

(C) Japan 

(D) China 

(A) Bi~Lm 

(B) Gp;fbri"GruQi6TL.w 

(C) ~uurrm 

(D) 66mrr 

120. Which Indian cricketer has become the first batsman to cross the 10,000 run mark in Ranji 

Trophy Tournaments? 

(A) Abishek Nayar 

(B) Parthiv Patel 

~ Wasirn Jaffer 

(D) Baba Aparajith 

(A) ~tSIG~B; Jf>murr 

(B) urr~~Qi uGu;i> 

(C) QJrrDlt..D ~rrurr 

(D) urrurr ~ugrr~~ 

VGT19 38 p 



121. Poet Bharathi's works in 16 volumes, consisting over 10,000 pages is compiled by 

\Jiff" Seeni Viswanathan 

(B) Sri Krishna 

(C) Renganathan 

(D) Sathyamoorthy 

10,000 u8;c$r6Jc$®.$®l.O uSl@)~UJrrGm 16 Q~rr@)~c$®L6isr c$@Sl(§fr urrl)~UJmf16isr UQ>LULjc$Q>GTT~ Q~rr@)~§J 

QJ ~ r6J$l UJQJ fr 

122. The New Science 'ECONOMETRICS' is a combination of 

(A) Economics, History, Physics 

~ Economics, Maths, Statistics 

(C) Economics, Maths, Computer Science 

(D) Economics, History, Ethics 

p 39 
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123. Central Government's Indradhanush Programme is related to 

(A) Rivers Link Programme 

~ Immunization Programme 

(C) Rivers Cleaning Project 

(D) Clean India Project 

LD~~UJ <:!911J"filGM @.lli~'l~®J~ ~LLLD @~®JL6i!T Q~rrLrTLfQ>LUJ~ ~ 

(A) .(D~.!Dm@m~uy ~LLLD 

(B) ~@u~fil~ fb)L...Llb 

(C) .(Dfb)S>m §IJUJQ">LD~ ~LLLD 

(D) §llUJQ>LD@fe~UJrr ~LLLD 

124. The country that was affected by 'Hurricane Patricia' in October, 2015 

(A) Philippines 

(B) Japan 

~Mexico 

(D) Sri Lanka 

.,!91.$GLrrurr, 2015@ 'urrL...rrlfilUJrr@i!DrTQJaflUJrrru' urrfb).$e;uuL...Ltvrr© 

(B) ~uurrQr 

(C) GLO.$W1Ce;rr 
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125. Mr. Raghuveer Chaudhary has been nominated for the 51st Jnanpith Award in December 

2015. His language of expertise is 

(A) Marathi 

~ Gujarathi 

(C) Sindhi 

(D) Konkani 

51QJ@ (§rTQTL1L 6ISIQ9pj)!i>s;rrs;, llt<'fLi>uir 2015@ru pj)Q9. 1J®6flir <'fQ.j~ITl urrlJi>@Q>IJS;s;uuL...@mwrrir. @QJrr 

tbl~~~@QJLD Guwroimro GLOrr~ 

(A) LOIJrTP>pj) ~®Li> 

(B) ®~llfTP>~ ~®Li> 

(C) ~Ji>~ ~®Li> 

(D) Qe;rrrf.Js;6llfl ~®Li> 

-· 126. Name the country that has approved World's First Dengue Vaccine 

(A) Australia 

~Mexico 

(C) Canada 

(D) China 

GLrf.J@i s;rru:.i66WJBie;rrQT Gp;rru:.i ~@u~ LD('9fepj)!i>® viu~pj6i.l ~61fl~~mw (lp~6i.l p;rr@ 

(A) ~~~G1Jro1UJrr 

(B) GLOBi~Gs;rr 

p 41 
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127. India's First Dolphin Reserve Community is established iµ 

(A) Kerala 

(B) Maharastra 

(C) Tamil Nadu 

\,)}!J( West Bengal 

128. Which railway station has become the first visually challenged friendly station in India? 

~ Mysuru railway station 
. I 

(B) Bengaluru railway station 

(C) Delhi railway station 

(D) Pune railway station 

@Ji;~u..Jrr6lSl~ ~Ji;~ Q:P~bi.l l)u5lru ~Q)Q)lJ..JtD urrrrQl6UlJ..JW!D6Ui'ra;m ~blflQ>LDlJ..JfT8j UlJ..J~U@~t9Jtb 6lSl~~~Q) 

<:!91 m LD Ji; t9J Gi'Tm t9J ? 

(A) mLO<§® @1Ju5lru ~Qlrou..Jtb 

(B) Quri.Ja;~®@IJ"u5l6i.> ~mruu..Jtb 

(C) QL6i.>Q$1 @1Ju5lbi.> ~Qlrou..Jtb 

(D) Id.am @1Ju5l6i.> JB!mro UJ tb 
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129. In Land Survey, one link is equal to 

~0.20metre 
(B) 0.10 metre 

(C) 20 metre 

(D) 1 metre 
\ 

(A) 0.20 t0LLr'r 

(B) 0.10 tDLLrT 

(C) 20 tDLLr'r 

(D) 1 tDLLrT 

130. Part-Time Village Officers Abolition Act came into force in the year 

(A) 1984 

~980 
(C) 1979 

(D) 1985 

(A) 1984 

(B) 1980 

(C) 1979 

(D) 1985 

p 43 VGT19 
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13 l.. Consider the following statement, choose the correct answer : 

(1) Taluk A Register contains Village no, name and its hamlet names. 

(2) Taluk C Register contains short term lease and long term lease particulars of the 

villages. 

~) and (2) are correct 

(B) (1) is correct and (2) is not correct 

(C) (1) and (2) are incorrect 

(D) (1) is incorrect and (2) is correct 

(1) £1)rrtn ~66M. GuUJrr LD!DLDJtb ®.$.$ll)rrtnr6.Ja:;~Qi GuUJl'ra;l§LQJ ~rrwa:;rr "A" u~aQ.J@ 

Ul)rTLDifl.$8iUU@.$l!D~· 

(2) .$l1Jrrtn @>!!)l.$1UJ a;rrQ) tn!Droitb P,66ML a;rrQ) ®~~ml£ GiSlQ.Jl)r6.Jt£6ir ~rrwc!brr "C" u~CQ.JL.tq.ru 

Ul)ITLDnl.$a;uu@.$l!D~· 

(A) (1) LD!DIDJtb (2) 6nlUJrr~ an!iJroia;6ir 

(B) (1) e:nlUJrrm 8il.lD!l)J lDlD!l)Jtb (2) ~Q.IJDrT~ Bil.WJPJ 

(C) (1) LD.ti>WJtb (2) ~QJ!J)ITQT Oil.lD!J)IBi6iT 

(D) (1) ~Q.l!!Jrr~ en!Droi tn!D!J)ltb (2) e:rr1UJrrQT Bil.WW 

VGT19 44 p 
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132. Choose the correct descending order of hierarchy in the District Revenue Administration. 

~ollector- District Revenue Officer-Revenue Divisional Officer-Tahsildar 

(B) District Revenue Officer - Collector -Revenue Divisional Officer-Tahsildar 

(C) Revenue Divisional Officer- District Revenue Officer-Collector -Tahsildar 

(D) Tahsildar - District Revenue Officer - Revenue Divisional Officer - Collector 

133. Who is responsible for maintaining and reporting of survey stone? 

p 

(A) Panchayat Secretary 

(B) Public Welfare Officer 

(C) Director of Survey 

~illage Administrative Officer 

U.J rrrr? 
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134. The income certificate is valid only for ------ months/year from the date of 

issuance. 

(A) One year 

~6months 

(A) ~® 6l.IQ!)LLD 

(C) ~ um~Lb 

(B) 3 months 

(D) 2 years 

(B) ~Girr!l)J LDrr~Lb 

(D) @IJ~@ 6lJ@LrfilcSm 

135. Other Backward Classes (OBC) certificate is issued by 

(A) District Collector v;t!f' Tahsildar 

(C) Sub-Collector (D) Revenue Inspector 

(B) rul..Lrrl..§\UJfr 

136. Which one of the following forms is used for Death reporting? 

~ Form - 2 (B) Form - 5 

(C) Form - 1 (D) Form - 4 

(A) utq.rul.b- 2 

(C) Utq.6l.JLD - 1 

VGT19 46 

(B) utq.rul.b - 5 

(D) utq.rul.b - 4 
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137. A marginal farmer - means one who is holding 

~ 1.25 Acres of Wetland (or) 2.5 Acres of Dry land (or) less than both 

(B) 2.5 Acres of Wetland (or) 5 Acres of Dry land (or) less than both 

(C) 2.5 Acres of Dry land (or) 5 Acres of Wetland (or) less than both 

(D) 1.25 Acres of Dry land (or) 2.5 Acres of Wetland (or) less than both 

(A) 1.25 GJ.$a;ir !Di5m8' (~Q>ru§!) 2.5 GJ.$a;ir 4!5m<'l' (~) ~p;JD@)LD@)m!D6Urra; 6lS16U8'rrUJtb Q5ti.J.$l!D6Uir 

(B) 2.5 6J.$a;ir J0!56M (~) 5 GJ.$c$r'r 4!5Ql8' (~) ~pjlD@)tD @)Ql!J)6UITc$ 6lSJ6U8'1TUJtD Q5ti.J.$l!J)QJIT 

(C) 2.5 GJB;a;ir 4!56W>6 (~) 5 GJ.$a;ir !Dl5Q">a: (~) ~P'lD@)tD@)Q">!J)6UITc$ 6lS16U61TUJtD Qa:ti.J.il!D6Uir 

(D) 1.25 GJ.$c$rT 4!5m8' (~) 2.5 6J.$c$rT )Dl5Q">6 (~) ~pjJD@)tD@)Q">!D6UITc$ 6lSJ6U6ITUJtD Qa:ti.J.$l!J)QJrT 

138. Point out the wrong s.tatement in the following statements : 

p 

Statements : 

~ Destitute widow certificate is issued by the Tahsildar 

(B) Village Administrative Officer is the Registrar for Births & Deaths in the Village 

Panchayats 

(C) Legal-Heirship certificate is issued by the Tahsildar 

(D) Income certificate is issued by the Tahsildar 

c$Q!)~§J.$c$Glr : 

(A) ~~1)"6UJD!D 61Slp;Q)6US6ITQsrlJ)I 6ULLITL6lUJl)"ITru 6UWri.Ja;uu@.$l!D§J 

(B) .ill)"ITLD ui58'1TUJ~~a;ffi}Qir !S11JJU4c$Glr LDJDIDJtD .@IJJU4c$Glr u%16UIT6ITIJITc$ .ill]ITLD .ffilrT6UITc$ ~~QJQ)rTc$Glr 

~ UJ u5l.$a;u u L.@Gi"rroQTrr 

(C) 6UITrrlin6 a:rrQir1!51~~ 6ULLITL6lUJl]ITru 6UWri.Ja;uu@.il JD§J 

(D) 6UQ!)LDIT6UTS 8'ITQsri;pl 6ULLITL6lUJl)"ITQl 6Ul;9ri.Ja;uu@.il!D§J 
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139. The sub division Patta transfer order is issued by 

~ Tahsildar 

(B) Deputy Tahsildar 

(C) Revenue Inspector 

(D) . Firka Surveyor 

(A) Gl.JLLrrl...6lturr 

140. 'BLO' term related to 

~Election 
(B) Disaster Management 

(C) Public Health 

(D) Patta Transfer 

(D) ULLIT LOIT!J)l~Ql 

VGT19 48 p 



141. Consider the following statements: 

p 

Assertion (A) 

Reason (R) 

Government cannot claim any right over the trees in private lands. 

Under the Tamilnadu Panchayat Act 1994 certain lands vest in the local 

body the Panchayat have rights over the trees in these lands. 

(A) Both (A) and (R) are false 

~Both (A) and (R) are true (R) does not explain (A) 

(C) (A) is false but (R) is true 

(D) Both (A) and (R) are true (R) explains (A) 

s;rrfJ~n.O (R) ~fJrrL...61 LD~!D 6L...LLi> 1994~ .$~ 61Q) Jblrur&ls;m rurrrJrrL...61 LD~!!J~~~ 

a;L...@uurrL...1.q-ru 6l.JQ:9Li>. ~~ru :u;nm LDfJrfils;~m ruirrJrrL...61 wm!!Jl.O Ga:rrjb~Li> 

Qs;rr~LrTLQ)rTLO. 

(C) (A) ~ruw ~6Ulrrru (R) a:rtl 
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~ 

142. Identify the process( es) from the following which involves absorption of heat : 

I. Condensation 

II. Sublimation 

Ill. Evaporation 

(A) I and II only (B) I and III only 

\)¢ II and Ill only (D) I only 

I. ®Glfl n-61Sl~~ru 

II. u~ri.Ja;LDrr~ru 

Ill. ~61SIUJrr~ro 

(A) I LDWWJLO II LDL@Lb (B) I LDlDWJLO III LDL@Lb 

(C) II LDlDIPJLO III LDL@Lb (D) I LDL@Lb 

143. 1 KM (A), 1 Light year (B) and 1 Astronomical unit (C) are related as 

(A) A=B = C 

\,)Ji1f A < B>C 

(A) A=B= C 

(C) A< B > C 

(B) A< B < C 

(D) A > B > C 

(B) A< B < C 

(D) A> B > C 

144. Mass of an object is 10 kilogram. Its weight on the earth and is space respectively are 

(A) 5 N, 10 N 

(C) 10 N, zero N 

(A) 

(C) 

VGT19 

5 N, 10 N 

10 N, 6i~ N 

(B) 10 N, 10 N 

~98N,zeroN 

50 

(B) 10 N, 10 N 

(D) 98 N, 6i~ N 

p 



145. Some metals are used to manufacture coins. Among the metals, which are called coinage 

metals? 

(A) Cu, Co, Hg 

(C) Ag, As, Sb 

~Au,Ag,Cu 

(D) Fe, At, Pb 

$1Q.) ~G6Urr.srlil.s~ J!>IT~lLirlil.sm ~l1Jrrrll8ia;u uUJmuffi'.$l!D~ · ~~Q.J.sGTflro 6rJBfb ZLGQ.>rra;rlila;~ - J!>IT~lLI 

2-.GQ.)rra;rlila;m 6f~ ~~w8;.suuffi'.$l!D~? 

(A) Cu, Co, Hg 

(C) Ag, As, Sb 

(B) Au, Ag, Cu 

(D) . Fe, At, Pb 

146. I. Sodium hydroxide is used to remove grease stains from cloths. 

p 

IL Calcium hydroxide is used in the manufacture of wax. 

III. Ammonium hydroxide is used in the white washing of buildings. 

IV. Magnesium hydroxide is used as a medicine for stomach troubles. 

-Of these 

(A) I and II correct 

(C) III and I correct 

(B) II only correct 

\,jJ!ff' IV only correct 
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147. Consider the following statements: 

Assertion (A) : 

Reason (R) 

Mitochondria are called power houses of the cell. 

Mitochondria contain enzymes necessary for the oxidation of food during 

respiration and release energy in the form of ATP molecules. 

~ Both (A) and (R) are true (R) explains (A) 

(B) Both (A) and (R) are true (R) does not explain (A) 

(C) (A) is true but (R) does not explain (A) 

(D) (A) is false but (R) is true 

sn.!D g)f (A) 

s;rrrr~n.O (R) 

VGT19 

8TQ.JrT61~~6\S1Qr Gurr@ fLQSIST61.j ~8;001s;l}"QSISTLD ~~LlU a~~QJUJITQT Qp;rr~s;m 

~tnl...GLrrs;rr~L..rlllUrr66lro fLffi"~QT. Gtn~ib ATP (YlQ>Bisn.rois;m Gl.Jiq..661ru ~d>wro 

QQJQfluu@~!D@ · 
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148. The cells which provide nourishment to developing sperms 

\)J'f" Sertoli cells (B) Interstitial cells 

(C) Egg cells (D) Follicle cells 

(A) Ga:ir~urrol Ga:rua;GiT 

(C) ~~L Ga:rua;GiT 

(B) @Q"lunL.@ Ga:rua;GiT 

(D) urrrol.$£GiT Ga:rua;GiT 

149. What is Mediasteanum? 

(A) Membrane around the lungs 

(B) Membrane around the heart 

(C) Membrane around the kidney 

~ Space between the two lungs 

(A) l91Q"lf}'lDf}'Q>Q)c!i: s;J:i>!D1ll..JGiTm ULQ)LD 

(B) @~w;,Q>~s;J:i>!D1ll..JGiTmULQ)LD 

(C) 6lrot.ffi!J'a;;,Q>~ s;J:i>!D1ll..JGiTm ULQ)LD 

(D) @IJ'~@ l91Q"lf}"u5f}'rua;~.$®@Q)L~W SLGiTm@Q>LQQJm\ 

150. Hazardous bio-medical wastes are usually disposed off by means of 

(A) Land fills (B) Deep well injection 

\,Jli!f' Incineration (D) Surface impoundment 

@Lirurr@ p;Q!)Lb SLuSlrrlwru LD®~~Ql a;WJQJa;m GTLD(YlQ>f!>uSl~ (Y)Q>LD ~a;J:i>wuu@£~w~? 

(A) .@Q);,~ru .@rru~p;ru (B) ~w£QR!Trot urrtLi66ru 

(C) GTITl;,~ a:rrl.bururrB;®p;ru (D) ~LDJ:i>urrui.Slru ~iq. Q)Ql;,~ru 
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151. The King who issued the infallibility decree was 

(A) Babar (B) Humayun 

(C) Shersha \Pf' Akbar 

(A) urrur'r 

(D) ~8;ur'r 

152. The tower of Arunachalaeswara temple was completed by 

(A) Thirumalai Na yak \Jli'ff"' Achutappa 

(C) Vijaya Ragava (D) Krishnadevaraya 

153. The excavation of the Indus Valley Civilization was done in 

¢" 1921 (B) 192~ 
(C) 1924 

(A) 1921 

(C) 1924 

VGT19 54 

(D) 1926 

(B) 1922 

(D) 1926 
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154. Where K Kamaraj was kept in prison in 1930? Where did he hoist the Indian National Flag 

in 1947? 

~ ~pore, Sathyamoorthy's house 

(B) Delhi, Chennai Fort 

(C) Andaman, Delhi Fort 

(D) Vellore, Virudunagar Home 

a.$. B;rrLOl}"rr~rr 1930 Q) GTrfil® §)Q>.(DuSlru ~Q>L8i<'£UULLITrT? 194 7 Lb ~Qar@ @.ffi~UJ Cp;61UJ8i QB;rrtq.~UJ 

GTri.J@) ~JD!DlQTrrrT? 

155. describes the social condition of the Sangam Tamils. 

p 

(A) Manimegalai 

~ Tholkappiam 

(C) Pathupattu 

(D) Ettuthogai 

(B) Q~rrrua;rrut.S1UJLi:> 

(C) u~~uurrl....@ 
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156. Who among the following was the political Guru of Gandhiji? 

(A) G. Subramanya lyyer 

(B) Surendranath Banerjee 

(C) Feroz Shah Mehtha 

~ Gopala Krishna Gokhale 

£~8;s;~L6Ur'r8iG!flro t.O.SIT~t.Orr 8irT_ffi~uS'lm c!l>fl)'fihuro @)(!96UIT.S 8i(!9~UULL6UrT U.Jrrfr? 

(A) G. 6iu~11t.0~UJ c!l>ILi.JUJfr 

(B) sra11.(5~1J"J!>rT~ urrmfr~ 

(C) t5lalJ'rr~ Gl!frT at.0~~rr 

(D) a.srrurrro .il@~~ a.srr.saro 

157. In which year Jawaharlal Nehru declared the "Poornaswaraj" of India? 

(A) 1926 

(B) 1927 

(C) 1928 

~ 1929 

~_ffip-; ~~@ ~6U~r'rrurrro aJD®@.ffi~UJrr~m 'kJ,r'rEm BrUJl)'rr~~UJt.0' uJb!J51 aufil6'Trrr'r? 

(A) 1926 

(B) 1927 

(C) 1928 

(D) 1929 
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158. Consider the following statements : 

I. Cave Pillars are formed when stalacties and stalagmites meet together. 

II. Delta is a depositional feature of almost triangular shape at foot hills. 

Which of the statements given above is/are correct? 

(A) I only 

(C) II only 

(A) 

(C) 

I LDL..@i.b 

II LOL..@i.b 

~Both I and II 

(D) Neither I nor II 

(B) I LD!i>lJ)Ji.b II 

(D) @IJ"~@uSlro~ro 

159. Choose the correct answer : 

p 

The Atmospheric layer where the decrease of temperature with increasing elevation at a 

Normal lapse rate. 

"" Troposphere 

(C) Thermosphere 

(B) Stratosphere 

(D) Exosphere 

~lLIIJ"LD ~~a;rrlffi@)i.b Gurrc.!:9~ @)6'>!D8il~!D G61.luu.ffil~ro @Sl.$1~1.b ( GUrruw @Sl.$1~1.b) ~GiTGrr 61.JG!flLO~Lro 

~@ffi@j. 
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160. The physiocrafts considered only the following as productive occupation 

(A) Manufacturing Industry 

\)li1'f Agriculture 

(C) Service Sectors 

(D) Soldiers 

.@UJ!DGTI.sGtJrr~.sm ~~e; QP6>$1UJ~§J6tlt.b Ga;rr@~~§I 

(A) L!Du~~~ Q~rr~ru 

(B) CGtJGITIT~QllD 

(C) Ca:66>6tl~ ~61)JD 

(D) u 61) L 6l) IJfr .SITT 

161. The difference between NNP and NDP 

(A) Depreciation 

(B) Current transfers from rest of the world 

(C) Indirecttax 

l.?f Net factor income from abroad 

~B;IJ JDITL@ LWU~~6;®t.b (NNP) ~B;IJ IUiTr,(J)ITL@ LWU~~B>®t.b (NDP) .@61)LCUJ LGITGIT C6tl!l)JUITLrT61rr~ 

(A) C~Li.JLDrrmt.b 

(B) Lro$lm t5lJD U®~a;61flrol@fe>~ JDLU~ LDIT!DJDt.b 

(C) LD66>JDQP8i GtJitl 

(D) G6tl6lt'l,(!)1T@a;61tlrol@fe>§I GU(!?t.b ,llil.s1J6; 8irTIJ~ 6tl(!?G'UrTUJ 
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162. Consider the following statements: 

p 

Assertion (A): The right to Information Act was passed by the Parliament on 12th October 

2005 

Reason (R) : Parliament passes the Act to enable all the citizens' fundamental right to 

access information from public bodies. 

~ Both (A) and (R) are individually true 

(B) (A) is true but (R) is false 

(C) Both (A) and (R) are false 

(D) (A) is false but (R) is true 

(B) (A) s:ITI ~mrrro (R) ~ru~ 
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163. Match the following List I - List II with suitable options 

List I List II 

(Source) (Acid) 

(a) Lemon 1. Malic acid 

(b) Grapes 2. Oxalic acid 

(c) Tomatto 3. Citric acid 

(d) Apple 4. Tartaric acid 

/~ 
(b) (c) (d) 

4 2 1 

(B) 3 2 4 1 

(C) 2 4 1 3 

(D) 4 2 3 1 

ul...tq.LUru I rol@~~ ul...tq.LUru IIm a:ITlLUrra; Qurr®fii~a; : 

uL..1q-LUru I uL..1q-LUru II 

( ('.!j)Q) Lb) (~uSlrui.b) 

(a) 6T@)Ju5l8:Q>6 1. LD rrrol .$ ~ u5l ru Lb 

(b) ~IJrTLQ>a: 2. ~.$a:rrrol.$ ~uSlrui.b 

(c) ~B;a; rr6Tfl 3. filLITl.$ ~ u5l Q) Lb 

(d) ~ui5lm 4. LrrrrLrrITl.$ ~uSlrui.b 

(a) (b) (c) (d) 

(A) 3 4 2 1 

(B) 3 2 4 1 

(C) 2 4 1 3 

(D) 4 2 3 1 
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164. In Tamil Nadu, the State Human Rights Commission was constituted in 

~ 1997 (B) 1998 (C) 1999 (D) 2000 

(A) 1997 (B) 1998 (C) 1999 (D) 2000 

165. Match the following 

(a) Age of voting 1. Election Commission 

(b) Symbols allocation 2. 18 years 

(c) Open ballot 3. 42"d Amendment 

(d) Fundamental duties 4. Raising hands 

(a) (b) (c) (d) 

(A) 1 2 3 4 

~ 2 1 4 3 

(C) 3 4 2 1 

(D) 4 3 1 2 

i9m6l..l(!?6l..lQT6l.J!i>br>JD Qurr®~~s;: 

(a) 6l.J IT B;s;roJ 8;@) LD QJ lU ~ 1. G~r'r~ru ~br>QRITtutb 

(b) 6lmQTr&Js;w ~~.S®6l..l~ 2. 18~~@s;w 

(c) Q6l.JrolUUbr>LlUITQT 6l.JIT.S@)UU~~ 3. 42ru~ ~®~~6 a:L...Ltb 

(d) ~tq.UUbr>L.$ 8.iLbr>LDB.iW 4. Q)8.i8.ibr>QT r:LlUrT~~~Q) 

(a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 2 1 4 3 

(C) 3 4 2 1 

(D) 4 3 1 2 
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166. What is the age limit of Judges of High Court? 

(A) 60 

(C) 65 

(A) 60 

(C) 65 

~62 
(D) 70 

(B) 62 

(D) 70 

167. The Chairman of the Constitution Drafting Committee was 

168. 

\JI((" Dr. B.R. Ambedkar (B) Dr. Sinha 

(C) Dr. Rajendra Prasad (D) Jawaharlal Nehru 

(B) ur d;ur. 6l6Na;rr 

-------- deals with the socio-economic development and empowerment of women 

through self-help groups. 

(A) Short Stay Home (B) Family Counselling Centres 

\)Pf"" Swayamsidha (D) Skill development 

~L..Lt.b QuEiliGTa;m 6iUJ ~~6!Sla; ®@d;a;m Curr6UTJD ~L..Lri.J.sm QJWJwrra;u 

QuEiliGrs;Glfl6UT ~~8irrlJ"d; ®6!Sluy LD!f>giit.b S:(!:P8iLI Qurr@61Trr~rrlJ" 6l.J61TrT66ld;.srrm QJW'a;rrL..@~JD§J. 
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169. An employee spends on an average Rs. 2,500 for the first 8 months of a year and Rs. 1,500 

for the next 4 months. If he saves Rs. 10,000 that year, then his monthly income is Rs. 

(A) 2,500 ~.ooo 

(C) 2,600 (D) 3,200 

(A) 2,500 (B) 3,000 

(C) 2,600 (D) 3,200 

170. A Mother is 20 years older than her daughter, 4 years before she was 5 times of her 

daughter's age at that time. How old is the daughter now? 

~9 (B) 12 

(C) 18 (D) 16 

(A) 9 (B) 12 

(C) 18 (D) 16 
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171. Find the difference between simple interest and compound interest for a sum of Rs. 8,000 

lent at 10% p.a. in 2 years 

(A) 90 

\)Ii!(' 80 

(B) 100 

(D) 70 

®· 8,oooa;® 10% ~6Wr© GUL...iq. Q)~t.0 GT~ru @1J6WT@ ~6WT@.$61Tlru ~~LB;®t.0 ~L...@ 6UL...Ltf-B>®t.0. 

~6lIT'lGUL...iq..$@Jt.O ~roGTT @Sl~~tLJrra:~~~a; a;rr6Wr.$. 

(A) 90 

(C) 80 

(B) 100 

(D) 70 

172. If A : B = 2 : 3 and B : C = 4 : 5 then find the ratio of C : A 

~ 15 : 8 (B) 8 : 15 

(C) 5 : 4 (D) 5 : 20 

A : B = 2 : 3 LD!Dwt.0 B : c = 4 : 5 GT6lIT'lru c : Am- 6lSl.$l~t.0 8;fT6Wr.$. 

(A) 15: 8 

(C) 5: 4 

(B) 8: 15 

(D) 5: 20 

173. If the height and the base area of a right circular cone are 5 cm and 48 sq.cm respectively, 

then the volume of the cone is equal to 

(A) 240 cm3 

~80cm3 

(A) 240 Ga:.t.03 

(C) 80 Qa:.t.03 

VGT19 64 

(B) 120 cm3 

(D) 480 cm3 

(B) 120 G6.t0a 

(D) 480 Qa:.t.03 
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174. Find the value of ( 1- i ) ( 1 - ~) (1 - ~J. .... .. ... .(1- 1~0) 
(A) 

(C) 

(A) 

(C) 

1 
100 

2 

3 

1 
100 

2 

3 

(B) 

(D) 

1 

50 

99 
100 

99 
(D) 100 

175. If a : b = 2 : 3, b: c = 6: 5 and a + b + c = 30 , then 2a + 3b + 4c is 

(A) 30 

(C) 100 

~2 
(D) 90 

a : b = 2 : 3, b : c = 6 : 5 wrtJwt.O a + b + c = 30 GTallru 2a + 3b + 4c GTmu~ 

(A) 30 

(C) 100 

(B) 92 

(D) 90 

176. Find the value of (0.98)3 + 3(0.98)2 (0.02) + 3(0.98)(0.02)2 +(0.02)3 

p 

(A) 2 ~ 
(C) O (D) 3 

(0 .98)3 + 3(0.98)2 (0.02) + 3(0.98)(0.02)2 +(0.02)3 
- ~ LD~LI~ 

(A) 

(C) 

2 

0 

65 

(B) 1 

(D) 3 
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177. A tap can fill a tank in 15 minutes. Another tap can empty it in 20 minutes. Initially the 

tank is empty, if both the taps start functioning at the same time, when will the tank 

become full? 

~ 1 hour (B) 3 hours 

(C) 2 hours (D) 4 hours 

~® ®wrnu B>rrrol1Lm.s '2-mm Q~rri..: .. .1.q .. Q>UJ 15 J£1L.61Lffi.JB>Gfflru /£11J"l.JL1L.O. LD!iJG!Drr® ®Wrrli...J ~~G~rrl....~Q>lU 

20 i£lt.6lLri.Js;Gfflru B>rrrol G6li...Jl1..JL.O. ~IJ"L.bup;~ru Q~rrl....~ .srrrolUJrr.s .@®Ji;~. .@® ®Wrrli...J.s\§L.D ~all 

Gp;IJ"PJ~Gii> ~JD.ti;~ 61SILuul....Lrr"1> ~~Q~rrl....iq.. ~61..J6tlw6l.J Gp;IJ"~~ro /£11J"l.OL1L.b? 

(A) 1 LD~ 

(C) 2 LD~ 

(B) 3 LO~ 

(D) 4LD~ 

l 78. If ROAD is coded as URDG then SW AN is coded as 

(A) VXDQ 

(C) VZCP 

(A) VXDQ 

(C) VZCP 

~VZDQ 

(D) UXDQ 

(B) VZDQ 

(D) UXDQ 

179. India's first dedicated scientific mission to study the outermost layer and the chromosphere 

of sun is 

(A) Ravi ~ditya 
(C) Kiran (D) Jwala 

@;rfllLIQflm .@JDLD~Lruili LD!iJ!PIL.O l.OQ6tlGffluuLruri.JB>m u!iJ!!Sl ~IJ"rrli...J6tl~ci>a;rra; ~r'ru~8;a;uul....@mm C!P~ro 

.@Ji;~UJ ~!!5161Sl1Uro ~l....Luu~ 

(A) .@IJ"61Sl 

(C) .$llJ"~ 
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180. Which bank has launched M- Visa mobile payment solution in October 2015? 

(A) IDBI 

~ICICI 

(C) Axis 

(D) HDFC 

(A) t13.1q-.i.Sl .ffi 

(B) m.61.m.61.m 

(C) ~8i616iu 

(D) GT8:.tq-.GTU .61 

181. The 43rd Chief Justice of India appointed in December 2015 is 

(A) Justice KN. Basha 

(B) Justice H.C. Dattu 

(C) Justice Swatantra Kumar 

~Justice T.S. Thakur 

(A) t;g6futq-6fu as;. GT~. UIT~IT 

(B) t;g6futq-6iu Q~8:. 61. LITL@ 

( C) t;g 6iu iq.6fu 8iQJ p;jb~ IJ"IT @)LO ITIT 

(D) t;g6fuiq.Q\> tq-. '1'Qu. p;rr8i8il.r'r 
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182. The First Telungana Language Day was observed on 

~ September 9, 2015 

(B) October 4, 2015 

(C) January 1, 2015 

(D) December 14, 2015 

(A) Ga=uLt.burr 9. 2015 

(B) ~Biaururr 4. 2015 

(C) ~mQJrfl 1. 2015 

(D) iq.a=t.burr 14. 2015 

183. Which state launched e-Pragati in 2015, a scheme to bring all government services under 

one roof? 

/ Andhra Pradesh 

(B) Kerala 

(C) Uttar Pradesh 

(D) Delhi 

~1}"8' aa=6W>Qla;m ~6W>m~6W>~ll..jt.b ~all @i6W>Lu5lQi- £~ Qa;rrQiar@ GUQ9GU~JDa;rra; e-Pragati 6TQT!J) f)L..L~6W>pi 

2015ru §!GUBi.illU LDrr.ffilrut.b GT~? 

(C) tL~f;ll t.Sl~pj6t.b 

(D) GLrurol 
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184. Which state government has launched Anwesha Scheme in December 2015 to provide 

quality education to scheduled caste and scheduled tribe students? 

(A) Jharkand 

(B) Chattisgarh 

~Odisha 

(D) Manipur 

lblT~~~UULL LD!i>!l)ltb u~nit@)tq- LDIT6WT6UrT8;~6;® ~IJ"LDIT611T @@6U6 e;ro6l51 uuSlro6U~W® 6U~ Ga:li.Ju..it.D 

· ~Qrarua:rr' ~L...L~~~ 6rfb~ LDrr~ru ~IJ"BT tq-a=i..Dur'r 2015ro Q~rrLnit.$ltLJ§J? 

(A) ~rrr'ra;GiGTL... 

(B) a:L...ie.~e;r'r 

(C) ~tq-a:rr 

(D) LD~l.ikJ,r'r 

185. In September 2015, the Chief Minister of Tamil Nadu inaugurated a new park inside the 

Vandaloor Zoo. It is the 

p 

~ Butterfly Park 

(B) Elephant Park 

(C) Tiger Park 

(D) Bird Park 

Ga:uLi.bur'r 2015@ro, 6UGiGTL~r'r ~(61(§r'r ~GiGT6Wfrr 6U611T6l5lronit® !d>nite;rrGlSl!i>®Gir ~t.6l~e; QP~ru~LDB=a:rr 

6Tfb~ ~uSlrfl611T~~m !d>nite;rr~ru ~ru.S.$1 ~ru~~rrr'r? 

(C) L.lrol kJ.nile;rr 

(D) U!J)~6U \d.rfile;rr 
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186. Which country was recently declared the cow as its National Animal? 

(A) Indonesia 

(B) Malaysia 

~Nepal 

(D) Mauritius 

187. The scientist who explained "Big Bang Theory" at first was 

(A) Edwin Hubble 

~ Ab George Lematry 

(C) Ptolemy 

(D) Aryiabatta 

(C) p:;rrQ)~ 

(0) ~rflwul...Lri" 
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188. 70th Anniversary of United Nations Foundation Day was on 

~ 24 October 2015 

(B) 12 October 2015 

(C) 21 October 2015 

(D) 15 October 2015 

(A) 24 ~a;auruir 2015 

(B) 12 ~a;auruir 2015 

(C) 21~a;auruir2015 

189. The Revenue Court in the state deals with which among the following case? 

(A) Cases of patta transfer appeal 

~Cases of tenancy laws 

(C) Cases of stamp duty 

(D) Cases of 'UDR' correction 
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190. Village Account No. 1 deals with 

~ Cultivation Account 

(B) Adangal 

(C) Lease Register 

(D) Inam Register 

(B) ~Lffi.Js;Q) 

191. Who will be Jamabandhi Officer for any Taluk? 

(A) Deputy Tahsildar, Tahsildar or Block Development Officer 

(B) Tahsildar, Special Tahsildar or Block Development Officer 

(C) Deputy Tahsildar and Special Tahsildar 

~ Deputy Collector, District Revenue Officer or District Collector 
I' 
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192. How many types of wet lands are there? 

~3 
(B) 4 

(C) 5 

(D) 6 

(A) 3 

(B) 4 

(C) 5 

(D) 6 

193. What is registered in B memo by the Village Administrative Officer? 

~ncroachment 

(B) Patta transfer 

(C) Chitta 

(D) 2C patta 

(C) 61L.Lrr 

(D) 2C ULLIT 

p 73 VGT19 
[Turn over 



194. 1 Cent is equal to 

~ 435.6 sq. ft 

(B) 144 sq. ft 

(C) 100 sq. meter 

(D) 1089 sq. ft 

(A) 435.6 a=~IJ <:!91Ltr 

(B) 144 6~1J <:!9llq. 

(C) 100 a=~IJ u5L.u'r 

(D) 1089 a=~IJ <:!91Ltr 

195. In which of the following lands the land lease is not banned? 

(A) Water course poramboke, like lake, Eri and pond 

(B) Meikkal and gracing ground poramboke 

(C) Burial grounds 

'\,)}ii( Un assessed dry waste 

£~.9>8i~L6U!iJ!PJ6Tr ~ttfti ~6l)~~ru .ffilru.9>@i~tliQ'l8i 6l.J~ffii@i6l.J~ tli68'LGa:u°JUJUUL~6\>Q">Q)? 

(A) Glrfl. ~Q'>L, @iWLD aurrmJD f;ir ~Q'>Q>U LJJDLDaurr.9>@ia;6fr 

(B) awtiJ.9>a;rrru ( w) tn]tft)GruQfl LJJDt.Daurr.9>@ia;6lr 

(C) LDUJITQTLD 

(D) ~irmru GJtDULIT~ ymGa:tiJ ftirllln 
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196. Match List I with List II & select the correct answer using the codes given below the lists 

p 

List I 

(a) Devadayam 

(b) Dharmadayam 

(c) Dasabandham 

(d) Brahmadayam 

(a) (b) 

~3 1 

(B) 2 3 

(C) 1 2 

(D) 3 4 

List II 

1. lnams granted to charitable seI"Vl.ce institutions such as 

Chowltry, Thanneer Pandhal and educational institutions 

2. lnam granted to religious personnels such as prohits and 

Panchangis 

3. Inam granted to religious institutions and their related services 

4. Inam granted for support of works on irrigation under 

maintenance 

(c) (d) 

4 2 

4 1 

3 4 

2 1 

LIL1ttUJGi> I :LLm ULt.q.UJro II reu Gurr®~~. LIL1ttUJrue;1.56;@) £Cw :LIDGTT Q~rr@)Lit.Slrol®.ffi~ a:ITlUJrrm 

6lSJ6nLQ)UJ~ Q~rflQ.j Qa:ti..Je; 

UL1ttUJGi>I 

(a) C~6\J~rrUJtb 

(a) 

(A) 3 

(B) 2 

(C) 1 

(D) 3 

(b) 

1 

3 

2 

4 

1. 

2. 

3. 

4. 

(c) 

4 

4 

3 

2 

LIL1ttUJGi> II 

8'~~1JW, ~~G!IDfrru.ffi~ru LO!iJIPJtb e;Q>6lSJ W~rrumri.Ja;1.56;@) 

Qa;rr(9.$e;uul....L@Gmrrt.ba;G1r 

C6\J~UJrra;1.5Bi@)tb LO!iJlPJtb @~fl LO~~~Ji>®tb Ga:rr.ffi~ ~uCUJrra;~~!i>® 

Gl.J~ri.Ja;uul....L@mrrt.be;m 

LO~ w~rrumri.Ja;~Bi@)tb ~~!D® l!m~UJtb Qa:ti..J6\J~JD@)W 

6l.J~ri.Ja;uul....L@mrrt.be;G1r 

6l.J@6l.Jrrti..J ~178i&i.t.q.lU urra:m ~~rr17ri.Ja;Q)GTT urr~a;rrB;e; 61.lWri.Je;uul....L 

@rorrt.ba;m 

(d) 

2 

1 

4 

1 

75 VGT19 
[Turn over 



197. Who is the sanctioning authority for old Age Pension order? 

(A) Zonal Deputy Tahsildar 

(B) Head Quarter Deputy Tahsildar 

\Jli1f' Special Tahsildar (SSS) 

(D) Tahsildar 

(A) LD~LQ) ~Q)~ GUL.un.: ... 5lllJrr 

(C) pi6llll ruL.LrrL.5llUri" (e:.urr.~) 

(D) GULLrrL.5l1Uri" 

198. Which of the following is called as an important agro-based industry? 

(A) Steel 

(B) Cement 

~Sugar 
(D) Jute 

(C) c!frr.$a;Q}IJ' 

(D) c!f~ru 
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199. The Birth and Death should be Registered within the time of------, in respect of 

villages. 

~ 21 days 

(B) 23 days 

(C) 24 days 

(D) 25 days 

~® $lflrTLDfbfhlQ> ,!£l85@LD t5ljDUL..j LDJDWLD@!DUL..j85Q'l6IT ~fb~Q'lm J!ifTL85~6i®Gir (~) a;rrru ~Q)Q)Q)6;@)Gir ufhllU 

Cru~@t.0? 

(A) 21 J!irTL85~6i®Gir 

(B) 23 J!irrL.a;~6i®Gir 

(C) 24 J!irrL.85~6i®Gir 

(D) 25 J!irTL85~6i®Gir 

200. Which among the following register is maintained for Lease Land? 

p 

(A) 'A' Register 

(B) 'B' Register 

~ 'C' Register 

(D) 'D' Register 

(A) 'A' ufhlCru@ 

(B) 'B' u~Cru@ 

(C) 'C' u~Cru@ 

(D) 'D' u~Cru@ 
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Read the following instructions carefully before you begin to answer the questions. 

IMPORTANT INSTRUCTIONS 

1. This Booklet has a cover (this page) which should not be opened till the invigilator gives signal to open 
it at the commencement of the examination. As soon as the signal is received you should tear the right 
side of the booklet cover carefully to open the booklet. Then proceed to answer the questions. 

2. This Question Booklet contains 200 questions. Prior to attem1>ting to answer the candidates are 
requested to check whether all the questions are there in series without any omission and ensure there 
are no blank pages in the question booklet. In case any defect in the Question Paper is noticed it shall 
be reported to the Invigilator within first 10 minutes. 

3. Answer all questions. All questions carry equal marks. 

~·....--=" 4. You must write your Register Number in the space provided on the top right side of this page. Do not 
write anything else on the Question Booklet. 

5. An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. 

6. You will also encode your Register Number, Subject Code, Question Booklet Sl. No. etc. with Blue or 
Black Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not encode 
properly or fail to encode the above information, action will be taken as per commission's notification. 

7. Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct 
response and mark in your Answer Sheet. In case, you feel that there are more than one correct 
response, mark the response which you consider the best. In any case, choose ONLY ONE response for 
each question. Your total marks will depend on the number of correct responses marked by you in the 
Answer Sheet. 

8. In the Answer Sheet there are four circles @, @ , ©and@ against each question. To answer the 
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for 
each question. Select one response for each question in the Question Booklet and mark in the Answer 
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If 
for any item,@ is the correct answer, you have to mark as follows: 

@•@@ . 

9. You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take 
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination. 
After the examination is concluded. you must hand over your Answer Sheet to the Invigilator. You are 
allowed to take the Question Booklet with you only after the Examination is over. 

10. The sheet before the last page of the Question Booklet can be used for Rough Work. 

11. Failure to comply with any of the above instructions will render you liable to such action or penalty as 
the Commission may decide at their discretion. 

12. For Question No. 81to200 in all matters and in cases of doubt, the English Version is final. 

13. Do not tick-mark or mark the answers in the Question booklet. 
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